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Class 12 Time : 1 hr.
8-8-2016 Second Unit Test (First Term) in COMPUTER SCIENCE M. Marks : 20
1. Rewrite the following program after removing syntactical error(s) if any.

Underline each correction (assuming all the header files are included). [2]

struct movie
{ char movie_name[20];
char movie_type;
int tickets=100;
} MOVIE;
void main( )
{
MOVIE.gets(movie_name);
cin>> MOVIE.movie_type>> MOVIE.tickets;
by
void print( MOVIE m1, m2) // function to print details whose no of tickets is more
{ if(ml >=m2)
{ cout<<ml.movie_name<<ml.movie_type; }
else
{ cout<<m2.movie_name<<m2.movie_type; }

2. Define a class TAXPAYER in C++ with following description : [47/2]
Private members :

a. Name of type string
b. PanNo of type string
¢. Taxabincm (Taxable income) of type float
d. Net_income of type double.
e. A function CompTax( ) to calculate tax according to the following slab:
Taxable Income Tax%
Up to 160000 0
>160000 and <=300000 5
>300000 and <=500000 10
>500000 15

Net_income=Taxabincm-TotTax

Public members :
i) TotTax of type double
ii) A function INTAX( ) to enter data for the tax payer and call function
CompTax( ) to calculate Net_income.
iii) A function OUTAX( ) to allow user to view the content of all the data
members.
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Define a UDF also that compares total tax paid by two persons (details passed as arguments
as objects of class TAXPAYER) and display the details of the person who pays less tax. Write
main function also.

3. a) State and verify any one Distributive law using truth table. [1]

b) Design a circuit diagram for the Boolean expression given.
A+B+C)A+B +(C) [1]

C) Reduce the following Boolean Expression using K-Map. [2]
F(P,QRS)=2(0,3,4,5,6,7,8,10,12,15)

d) Reduce the following Boolean Expression using K-Map. [2]
F(ABCD)=0N(0,1,2,4,5,6,8,10,11,14,15)

e) Write the equivalent Boolean Expression for the following Logic Circuit and
simplify it algebraically

v —0—I>O— [2]

f) Write the POS form of a Boolean function F represented in a truth table
given below :

[1]

e == ==k -]
=IO 0o~RILRIOCOCIW
=l =l =l =1 o]
OO, O

g) What will the dual form of given expression: [1]
(A+B)'(A'+BYA'B' = 1
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4, Write output of the following code. Also, write the name of feature used in the
following program illustrated by the functions [I] to [III]. [272]

#include<iostream.h>

void Show(int N)

{ for(intA=1; A<=N; A++)
cout<<“Music-Fest-2016";

cout<<endl;

by

void Show(int A=1000, int B=5)

{ for(intL=1; L<=B; L++)
cout<<A/L;
cout<<endl;

}

void Show(char ch, int B=2)
{ for(intA=1; A<=B; A++)

//Function[I]

//Function[II]

// Function[III]

cout<<"Batch-2016-17"<<ch ;

cout<<endl;

b
void main( )
{ intd=8, g=3, f=4;
chara ="#";
Show(a,g);
Show(d,f);
Show( );
Show('&');
b
5. Write any two differences between structure and classes. [1]

http://www.cbseboardonline.com

-X=X-X-X-X-


http://www.cbseboardonline.com
http://www.cbseboardonline.com

